FLORIDA PRODUCT APPROVAL #38619 <
DP RATING NOT RATED FOR Frog
SEE TABLES 1 &2 M::\,SESSHI_SE-I-IX,\TQST N
HR810V HORIZONTAL ROLLER WINDOW, q
NON-IMPACT RESISTANT, 3
FLANGE, EQUAL-LEG & FIN FRAMES ;D’G
(7))
I|.I_J
1) THIS PRODUCT HAS BEEN DESIGNED & TESTED TO <
COMPLY WITH THE REQUIREMENTS OF THE FLORIDA o
BUILDING CODE, EXCLUDING THE HIGH VELOCITY >
HURRICANE ZONE (HVHZ). BUCK WIDTH BUCK WIDTH <
—— —— 12"MAX. O.C. @ 4
2) SHUTTERS ARE REQUIRED WHEN USED IN 3.4 —= = 5"MAX 7"MAX. 0.C. —= - S/ —w==— 1"MAX. O
WIND-BORNE DEBRIS REGIONS. ; 5 5 5 ; > : : : - ; : ; a
° L
3) MASONRY ANCHORS MAY BE USED INTO WOOD. ALL VO mr —~ 5\ (3 — (5 %
y 3 N \&/
WOOD BUCKS LESS THAN 1-1/2" THICK ARE TO BE 84/ 4N /) 34/ o A\ / . z
CONSIDERED 1X INSTALLATIONS. 1X WOOD BUCKS ARE i Y/ 3.4/ i ; 5/ =
OPTIONAL IF UNIT IS INSTALLED DIRECTLY TO / // T o 7oy
SUBSTRATE. WOOD BUCKS DEPICTED AS 2X ARE 1-1/2" // MAX ° / 7/ ° po
THICK OR GREATER. & : ¢ ‘ w | Q| o
S / 56-3/8" g OF BUCK / 56-3/8" ° RS a)
4) ANCHOR EMBEDMENT TO BASE MATERIAL SHALL BE HEIGHT 57-3/4 - HEIGHT 57-3/4 - 7" MAX. ¢l 3|l z
BEYOND WALL DRESSING OR STUCCO. USE ANCHORS MAX.DLO || MAX.DLO ! MAX.DLO || MAX.DLO o.C. . o|lBE > | &
OF SUFFICIENT LENGTH. 33-1/2" ° 33-1/2" T L e Z | o
m 33-1/2" —- MAX. =TT 33-1/2" — MAX. = f =" & O,.E =l >
- - o o
5) MAX. 1/4" SHIMS ARE REQUIRED AT EACH ANCHOR — MAX. DLO . MAX. DLO A z 2 5 £0 €9 o
LOCATION WHERE THE PRODUCT IS NOT FLUSH TO THE DLO ; DLO S00 |5|88 % —
SUBSTRATE. USE SHIMS CAPABLE OF TRANSFERRING ! ! ' T 5 MAX ; ! i <35 5|88 B T
APPLIED LOADS. , 1 ! ! ! ' oy - - = = - - \e norg|2ee| 2,
! - - - - — z+- 3 e < )
6) THE ANCHORAGE METHODS SHOWN HAVE BEEN TYP. ANCHOR LOCATIONS ES’ETE’E'TJ 1" MAX. J‘ TYP. ANCHOR LOCATIONS @ rLeT E 3 g é i E u'c—j ong
DESIGNED TO RESIST THE WIND LOADS - : Sl |8 |22
CORRESPONDING TO THE REQUIRED DESIGN (FLANGE FRAME SHOWN, EQUAL-LEG SIMILAR) (FIN FRAME SHOWN) ¥sz3| |° |o| 2 o
PRESSURE. THE 33-1/3% STRESS INCREASE HAS NOT @ E @ | O
BEEN USED IN THE DESIGN OF THIS PRODUCT. THE 1.6 5SS |o | 2|~
LOAD DURATION FACTOR WAS USED FOR THE 22 Igh, |5 W
EVALUATION OF ANCHORS INTO WOOD. ANCHORS THAT _ 8T |2z3| O| 5 =
COME INTO CONTACT WITH OTHER DISSIMILAR TABLE 1: DESIGN PRESSURES : TE 2228 2
MATERIALS SHALL MEET THE REQUIREMENTS OF THE Buck | Buck | o fguration | 'MPact Frame Type | 25 Design Pressure 8 |¢%z|c |9 |3
FLORIDA BUILDING CODE FOR CORROSION RESISTANCE. Width | Height Level Type | (+)psf | () psf ES §;§ TlE é
(1] " _ - § 8 f >' > I
7) FRAME FLANGES OR INTEGRAL FINS MAY BE TRIMMED 4 62 XOI0X Non-Impact | Flange, Equal-leg | 1or2 [ 450 | 450 5Tz |4
IN-FIELD TO CREATE AN EQUAL-LEG FRAME. 74" 62" XO/OX Non-Impact | Flange, Equal-Leg | 3 or4 55.0 65.0 © gi O';':G IS
60" 60" XO/OX Non-Impact | Flange, Equal-Leg | 1 or2 55.0 55.0 T '
WA 1
74" 62" XO/0OX Non-Impact Integral Fin 1o0r2 45.0 45.0 \\\\\\‘“\( LYN /V/ / //,//
74" 62" XO/OX Non-Impact Integral Fin 3or4 55.0 60.0 \\\\ g\\i‘-"'i\'é'é“"'é oK (((\”////
60" 60" XO/OX Non-Impact Integral Fin 1or2 50.0 50.0 N X '-._’P -
FOR SIZES NOT SHOWN, ROUND UP TO THE NEXT AVAILABLE WIDTH OR HEIGHT DIMENSION. E * No. 58705 * E
FOR GLASS TYPES, SEE SHEET 7. - : * -
-0 ﬁ %%n: =
— 9" 08/18/23 ;3
2 Q. STATEOF - 3
" Qi HLORDR. GV
71, SIONAL B
Ty
A.LYNN MILLER, P.E.
P.E.# 58705




- BUCK WIDTH —
== 12'MAX.0C. @ I
x i i i i i i : | ;
| / - e
@ / / (AN /) Ty,
“Il / Ga) |
e VAR [ ]
12
MAX.
BUCK 57-1/4" 58-1/2" /) o
HEIGHT || MAX. & MAX. DLO - | ©-C
DLO / 25" ?
~— MAX. —=—
1 - S DLO |
// B MAX. DLO
1] ! D
I : : . : : : : : —\[|| 5" MAX.

@DETAIL f
TYP. ANCHOR LOCATIONS \3,4/ SHEET
(FLANGE FRAME SHOWN, EQUAL-LEG SIMILAR)

(1/4 - 1/2 - 1/4 CONFIGURATION SHOWN)

- BUCK WIDTH -
7" MAX. O.C. —= —— @ 1" MAX. —] |=~—
/ - (5
5
S| VA
BUCK | 57-1/4" 58-1/2" // ° %
HEIGHT I\Sﬁé. = MAX. DLO / & - v MAX,
—~— MAX. —= O.C.
. B 51" DLO IR
// MAX. DLO f
; / Y
e TYP. ANCHOR LOCATIONS € 2)25%

(FIN FRAME SHOWN)
(1/4 - 1/2 - 1/4 CONFIGURATION SHOWN)

TABLE 2:
Buck | Buck i i Frame Design Pressure
Width | Height Configuration| Impact Level Type Glass Types @) psf O pst
" " XOX, Flange, Operable Lite: 1-4
82-7/8 63 (173, 1/3, 1/3) Non-Impact Equal-Leg Fed Lite 14 50.0 50.0
XOX, . Operable Lite: 1-4
82-7/8" 63" Non-Impact Fin 45.0 45.0
(113, 1/3, 1/3) P Fixed Lite: 1-4
XOX Flange, Operable Lite: 1-4
111" 63" Non-Impact 50.0 50.0
(1/4, 112, 1/4) P Equal-Leg | Fixed Lite, See Table 2A
XOX, ) Operable Lite: 1-4
111" 63" Non-Impact Fin 45.0 45.0
(174, 112, 1/4) P Fixed Lite, See Table 2A
1) FOR SIZES NOT SHOWN, ROUND UP
Allowable Glass Types for the Fixed Lite of an XOX 1/4 - 1/2 - 1/4 T)O THE NEXT AVAILABLE WIDTH OR
- HEIGHT DIMENSION.
Width
" " " " " " 2) FOR GLASS DESCRIPTIONS, SEE
60 72 84 96 108 111 SHEET 7.
36" 1-4 1-4 1-4 1-4 1-4 1-4 5 BUG SIONS SHO
BUCK DIMENSIONS SHOWN.
= 48" 1.4 1.4 1.4 1.4 2.4 2.4 ) e —
£ . WINDOW MAY BE A 1/4 - 1/2 - 1/4
3| 54 1-4 1-4 1-4 2-4 2-4 2-4 CONFIGURATION OR 1/3 - 1/3 - 1/3
T " CONFIGURATION PROVIDED DLO (DAYLITE
60 1-4 1-4 2-4 2-4 3&4 3&4 OPENING) SIZES ARE NOT EXCEEDED.
63" 1-4 1-4 2-4 2-4 3&4 3&4

<
#:1o8y
N
N
~
N
=
o)
o
2107
(7))
L
|_
<
@)
o
-]
-
<
xx
O
=
@)
L
14
@)
Z
=
‘N8
&
w ~
2 | = |5
3l=|Bl=
50| < prd
=4 O 1
of| © <
| ¥E [=ma] =
e E o
o S22 Z | w
- N[ —w < !
='|_|J F[ o = O >
=2 |Blgg| £ 0| 2
Z 4 s -~ | e
Egu’) |<_: gg ; /(8 I
RO P_: o X o umo.q I
<03 |B|88] O
%) N o =
>-—'_|o o Ny zZ
EOOLLO O X = O
= o |W < ; = o
D5Ws|%|52 = 2| o
%898 R | X [GS
aFEEX |z [Ylgl
LUE>‘_ o | LlJ_I ©
rs_.x o L
-2 5189 °
=] I N
sSo (g L (X0
» o S lwZ
woy |QUE O |w <[=is
é’w aE® N = o3
g Z N o N O
88 [ZEd| X (z0 >
88 (23| O|lux| ©
ES 13.3|1TR3 =
== 1222/ 2 |5g &
=T E Zuwl T
Q® S l(-IDJm
o o
9/11] |'oseq |salias
\\\\\\nm/,, )
O y\\(LYN/\/ s,
Q LY >
\\\ '\\e,\-"\/\CENSé\ N
:*;' No. 58705 */:
= O e Kl
-~ 9% 08/18/23 - o =
=R RTINS
2O, STATEOF .-%Q/\\
- . .
R FLORIDPL T AN S

A.LYNN MILLER, P.E.
P.E.# 58705




O,

EDGE DISTANCE —

HEAD FLANGE FRAME X-SECTION

INTO 2X WOOD OR MASONRY

=

EMBEDMENT

JLSUBSTRATE
I

BUCK
HEIGHT

FIXED
LITE
DLO

1
|

J

SASH
DLO

17

24

16

EXTERIOR

&

i \
]

SUBSTRATE

4

EMBEDMENT

%

SILL FLANGE FRAME X-SECTION

O,

INTO 2X WOOD OR MASONRY

<
#:1o8y
% EMBEDMENT N
N
I ! =
— B =
EDGE [ EDGE 3
DISTANCE DISTANCE 5750
v ...... AN I (VA
L T L @
! =
<
[—— a
o
’ ﬁ AS PER ANCHOR =)
/ / REQUIREMENTS -
<
| e
(@)
=
SUBSTRATE £ o)
LZJ l ”
) o
EXTERIOR 2
U =
— BUCK WIDTH -— e
@ JAMB FLANGE FRAME X-SECTION @ MEETING RAIL X-SECTION @ JAMB FLANGE FRAME X-SECTION LR
THRU 1X INTO 2X WOOD OR MASONRY SHOWN FOR OX CONFIGURATION USING SCREWS INTO METAL 2|~ o
(XOX SIMILAR) SRRl B =
al Zz o O 1
©o|UE =5 > <
x Q E = 100 > [a )
w o 2% z | %
-] N w !
= HH* -0 e 0) >
= z|ox| Z o
zZ 5|29 =1 9 %
% g 2 < 'ﬁ_’@ = 5| X
OR] Xl o umo.q I
<93 |a|g3| O
53ug|gloy| (UL
AR
woog| |Cofl x| & 212
TABLE 3: INSTALLATION ANCHORS < HZ=R N T x
Minimom INSTALLATION NOTES: uessl |8 | 2|0 o
u Minimum 1) SEE SHEET 1 FOR ANCHOR SPACING L2ZS 15| w
Anchor Substrate Edge REQUIREMENTS [7) =z O
. Embedment : =35 401 Z| &
Distance s o |o < | %
= [
Southern Pine (SG = .55) 9/16" 1-3/8" 2) ANY INSTALLATION OPTION SHOWN (2X g o2 §E§ % =B =TS
#10 or #12 Alum 6063-T5 mi 3/8" 0.050" BUCK OR WOOD FRAMING, 1X BUCK, DIRECT & o o '(7)5 N |<£
Steel or 410 SS uminum, -1 min. i TO MASONRY, STEEL STUD) MAY BE USED 53 |3F2| || >
Screw Steel Stud, Gr. 33 min. 3/8" 0.045" (20 Ga) ON ANY SIDE OF THE WINDOW. gg %g; L (:E = =
A36 Steel 3/8" 0.050" ES |2=8| 3|0 Q
Concrete (min. 2.9 ksi) 1" 1-3/4" 3) USE ONLY SUBSTRATE APPROPRIATE % ,%f E <Z( T
3/16" Steel — m - ANCHORS LISTED IN ANCHOR TABLE 3. 9 S| 7
Ultracon+ | -ongrouted CMU, (ASTM C-90) L 1-1/4 FOLLOW EMBEDMENT AND EDGE DISTANCE e ) EEUES
Southern Pine (SG = .55) 1" 1-3/8" LIMITS. MAX. SHIM THICKNESS TO BE 1/4". SYNEAN,
Concrete (min. 3.0 ksi 1" 1-3/8" w! "1y,
1/4" Steel ( ) - - WY LYNy 77,
Ungrouted CMU, (ASTM C-90) 1 1-1/4 NP O ”4/( 7,
Ultracon+ : S KT WCENSE L
Southern Pine (SG = .55) 1" 1-3/8" R $ <§:0 -
1) ANCHOR MUST EXTEND A MIMIMUM OF 3 THREADS BEYOND ANY METAL SUBSTRATE. Sk NoS8TOS -
2) "UNGROUTED CMU" VALUES MAY BE USED FOR GROUTED CMU APPLICATIONS. - * C=
3) ALL ANCHOR HEAD TYPES ARE APPLICABLE. —0 5\ v SWQ: =
////%A STATEOF .~ Q%/ N
7R FLORID. @\%\\\
// S ------ \\
7, SIONAL et
Py
A.LYNN MILLER, P.E.
P.E.# 58705




O,

HEAD EQUAL-LEG FRAME X-SECTION

INTO 2X WOOD OR MASONRY

EDGE DISTANCE —f=—=] ‘
AN
:EZ EMBEDMENT
SUBSTRATE Iu
I =
i O30 L _J&=F
BUCK
HEIGHT
FIXED SASH
LITE DLO
DLO
5
H H 17
inij
U5l 1 i
JJ 24
2 | I% | 16
Y (e i
EXTERIOR EMBEDMENT
<j SUBSTRATE *

SILL EQUAL-LEG FRAME X-SECTION

@ INTO 2X WOOD OR MASONRY

<
#:1o8y
-~ EMBEDMENT ~
i ' =
N
— Ay
EDGE I EDGE 3
DISTANCE DISTANCE 575
B B L o i [ s %
! =
~— Z
AS PER ANCHOR o
/ / REQUIREMENTS )
-
<
| x
J |9
SUBSTRATE ] ﬁ i a
L
S (| o
EXTERIOR Z
=
@ - BUCK WIDTH - e
@ JAMB EQUAL-LEG FRAME X-SECTION @ MEETING RAIL X-SECTION @ JAMB EQUAL-LEG FRAME X-SECTION .18
THRU 1X INTO 2X WOOD OR MASONRY SHOWN FOR OX CONFIGURATION USING SCREWS INTO METAL 2 I
(XOX SIMILAR) 8s151al=
x S gg 21bg > o
4 B 2|y
2 F o = >
= E z|lox | = Q [=)
zZ 5|29 =1 9 %
- 6 N~ | o o g T
<3 % 5 § 8 A umMoniq
> = ol NYu| Z
o-19|o <
o = : g g ?E < ON
Hdoog Oo| oMa
TABLE 4: INSTALLATION ANCHORS SEZ2| 27| 0 |
— INSTALLATION NOTES: mef<| (8 [dlz | o
Minimum . R ° | o9
Minimum 1) SEE SHEET 1 FOR ANCHOR SPACING L2ZS CIE |«
Anchor Substrate Edge Embedment REQUIREMENTS. — (4 . 5 S
Distance s o |o |<£ 2
-— —
Southern Pine (SG = .55) 916" 13/8" 2) ANY INSTALLATION OPTION SHOWN (2X 2 3 Stie| Z | mimr
#10 or #12 Ao 50635 S 050" BUCK OR WOOD FRAMING, 1X BUCK, DIRECT Ee |o 2l Q|lzu
Steel or 410 SS uminum, ~1 min. : TO MASONRY, STEEL STUD) MAY BE USED 55 |izZ|zloX >
Screw Steel Stud, Gr. 33 min. 3/8" 0.045" (20 Ga) ON ANY SIDE OF THE WINDOW. gg %g z C:E W v S
A36 Steel 3/8" 0.050" Ez 223|528 2
Conorete (min. 2.9 ksi) T YT 3) USE ONLY SUBSTRATE APPROPRIATE =8%| X 39 T
3/16" Steel - . y ANCHORS LISTED IN ANCHOR TABLE 4. g° |SI0%
Ultracon+  |_ongrouted CMU, (ASTM C-90) 1 1-1/4 FOLLOW EMBEDMENT AND EDGE DISTANCE o e e
Southern Pine (SG = .55) 1" 1-3/8" LIMITS. MAX. SHIM THICKNESS TO BE 1/4". T
Concrete (min. 3.0 ksi 1" 1-3/8" W\ h
1/4" Steel ( ) - - SN oY LYNy 77,
Ungrouted CMU, (ASTM C-90) 1 1-1/4 NP O W,
Ultracon+ : S KV TWCENSE UL
Southern Pine (SG = .55) 1" 1-3/8" N $ <§:0 -
1) ANCHOR MUST EXTEND A MIMIMUM OF 3 THREADS BEYOND ANY METAL SUBSTRATE. E * No. 58705 * E
2) "UNGROUTED CMU" VALUES MAY BE USED FOR GROUTED CMU APPLICATIONS. - : * -
3) ALL ANCHOR HEAD TYPES ARE APPLICABLE. -0 é‘\ ha /1 SWI =
///:X())K\ STATEOF .~ Q%l >
/// 6\ /\\LOR\DP‘ '6\%\\\
71, SIoNAL BN
Ly
A.LYNN MILLER, P.E.
P.E.# 58705




<
1 | HEAD FIN FRAME X-SECTION Troy
USING NAILS INTO 2X WOOD @ N
~ EMBEDMENT -~ ' | SUBSTRATE \ =
i — [eo]
"OR SOREW, > =D EDGE }% = |~— SASHDLO — = =
’ ] 9107
SEE TABLE 5 - | DISTANCE —)
> 4+ j l \ AS PER ANCHOR a
ﬁ REQUIREMENTS tt!
ATE | EDGE DlSTANCE ] [] LT ED / g
1 ] | FIXED | \ &
EMBEDMENT LITE DLO N 3
= 4
CL 2| :
C : A Sh =
/ o
w
x
i \ S
Z
=
EXTERIOR Ay
@ — BUCK WIDTH - Q
L
2 | K|
BUCK HYBRID CONFIGURATIONS (FLANGE @ JAMB FIN FRAME X-SECTION @ MEETING RAIL X-SECTION Q JAMB FIN FRAME X-SECTION 81312l s
HEIGHT FRAME/FIN FRAME) ALLOWED WITH USING SCREWS INTO 2X WOOD SHOWN FOR OX CONFIGURATION USING SCREWS INTO METAL aZ| o 9 <
MULLION INSTALLATION, SEE PAGE 3 (XOX SIMILAR) v 8| & = 2l
FOR FLANGE FRAME INSTALLATION w e Z |y
FIXED SASH DETAILS. 2w ¥t | o >
LITE DLO % E o|2Q § 9 g
DLO 0o |Z|03 14
TABLE 5: INSTALLATION ANCHORS i g S |E|g% 8 mfi@ T
N|oO
Min. Edge Min. rauglo|Su| 2
Anchor Substrate ) zhgdlo<| = o
Distance | Embedment g Sus x 52 = | @ [ono
z QO ° w
2-1/2" x .113" Box Nail P.T. Southern Pine (SG = .55) 5/16" 2-7/16" é u';J & § :ﬁ“_ - &
> (e}
2-1/2" x .131" Common Nail| P.T. Southern Pine (SG = .55) 3/8" 2-7/16" 2523 |° |a|e| S
2-1/2" x .145" Roofing Nail | P.T. Southern Pine (SG = .55) 3/8" 2-7/16" = g E % UO)
P.T. Southern Pine (SG = .55) 1/2" 1-3/8" S8 %E E e
MAY BE NAIL Aluminum, 6063-T5 min. 3/8" 1/8" @ oz 8Ee e) ;(5 19048
OR SCREW, #10 Steel SMS : _ g2 (268N |3
L] L] L SEE TABLE 5 Steel Stud, Gr. 33 min. 3/8 0.036 = = ;éi. o Z:l =
; - A36 Steel 38" 178" S 322|252
1) ANCHOR MUST EXTEND A MIMIMUM OF 3 THREADS BEYOND ANY METAL SUBSTRATE. E= | =z ~ A
2) ALL ANCHOR HEAD TYPES ARE APPLICABLE. SR S| | T
3 3 S|
9/11] |'oseq |salias
r- (S =T INSTALLATION NOTES: T
| | \\\\\\\(\LYN”/ /,
\ /
R C—> N oWy B N 4
EXTERIOR § — ; 1) SEE SHEET 1 FOR SPACING REQUIREMENTS. \\\é&.. N -/((@////
- 5 = EDGE 2) FLANGE AND/OR FIN MAY BE REMOVED TO CREATE OTHER FRAME TYPES. S < R
- ] = 3 No. 58705 - -
— | T % A d=
MAY BE NAIL Y — DISTANCE 3) USE ONLY SUBSTRATE APPROPRIATE ANCHORS LISTED IN ANCHOR TABLE 5. FOLLOW EMBEDMENT AND = : * m =
ORSCREW,— =  EMBEDMENT |—~— f EDGE DISTANCE LIMITS. ANY INSTALLATION OPTION SHOWN MAY BE USED ON ANY OR ALL SIDES OF THE - ﬁ %ggﬁg A S
SEE TABLE 5 WINDOW. ;/% " STATEOF - Q/LU\:
SILL FIN FRAME X-SECTION /,/'%\' FLOROM..+" SN
2 ) USING NAILS INTO 2X WOOD 4) MAX. SHIM THICKNESS TO BE 1/4". MAX. SHIM SPACING TO BE 18". NS o

A.LYNN MILLER, P.E.
P.E.# 58705




<
TABLE 6: o
5566 BILL OF MATERIALS g
: - 3566" = - 3566" —— = a
( ITEM # | PART # [DESCRIPTION MATERIAL ~
" B 1 Frame, Flange PVC o
B 062" == . 2 9439 |Frame, Equal-Leg PVC ©
062" H_H [T =] . B. 3 Frame, Fin PVC g
; ' 2.136" ; 062" =gt Z 9478 |Sash Top Rail PVC a
5 9424 Sash Bottom Rail PVC |<Ti
6 9475 Sash Handle Stile PVC
. a
2.130 :] 7 9476 [Sash Lock Rail PVC o
3 = = Cy 8 9477 |Sash Meeting Rail PVC 3
. ‘ 331" 9 9436 |Glazing Bead PVC <
062 : 062" 10 9425 |Glazing Bead PVC e
12 6165 |Reinforcement @ Meeting Rail 6063-T6 |9
(1 FRAME, FLANGE (2)FRAME, EQUAL-LEG (3)FRAME, FIN 13 | 6163 [Reinforcement @ Lock Rai 606376 =
14 6166 |Reinforcement @ Handle Stile 6063-T6 wl
15 6162 |Anti-Lift Rail 6063-T6 %
16 6161 |Roller Track 6063-T6 Z
17 6158 | Sill Riser 6063-T6 =
~—— 1.625" —»‘ 20 Lock e
—~—— 1.424" —=] 1 [~ 2309" ——= 22 Keeper
‘ [~ 1.625" —= N 24 8153 [Roller Assm. R v
:]D 25 8223 |Weep Cowver Composite % ": w
L S— 26 4007 |Weatherstrip, .270" x .250" Polyfin cs13|9] =
) ; 30 1003 |Screw, #6 x 1/2" PFH Steel 9El 2 '
1.625 =| v 1.776 ; o|lBE= > | <
0L ] 1661 —- O ) 31 1007 _|Screw, #6 x 1-1/4" PFH Steel e QEsy =z | &
062" - 070" 062 32 1012 |Screw, #6 x 3/4" PFH Steel =" S S S 2
' 33 1015 |Screw, #8 x 1/2" PTRUSS Steel => HEHEARIE
— -t 1 34 1067 |Screw, #6 x 3/8" PPH Steel z 5 - Elzalz 24 &
T - > w Ag
SASH SASH SASH SASH SASH 22 :EGSSWOO, Sika 552, Dow 791,983,995 Backbedding ' :E! 8 CE % % é 8 unosg| I
TOP RAIL BOTTOM RAIL HANDLE STILE LOCK RAIL MEETING RAIL — Settiﬁ:"slrock g::: oogloloyl| 2
zZ 1] < >
40 6244 |Screen Nylon @ 5 85 @ %g E o
W = © rrF
THE APPROVED, RIGID PVC EXTERIOR EXTRUSIONS ARE TO BE PRODUCED BY E g 5 1 % H
EXTRUDERS' LICENSEES UNDER "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC I&J P > g 8 - o
‘« 1.667" — = EXTRUSIONS". L2z Q W
(7]
— ——] 510" [=— | 510" [=— S |, < g1 ¢
#» —— 250" — | 551" |~——o T T = % = —
7‘ ‘ ‘ T * 095" 4"_ L‘* 7/8" NOM. 4"_ L‘* 7/8" NOM. % o 8 E g % E; FEENTS
- 045" (<« Q45" 1.611" .095" 1 251" : T 1 T =2 |2 58| N | o
795 739" 125" 1.251" ' 1/8" ANNEALED 1/8" TEMPERED 8BS [SET|X|B|>
58 L i & 5/8" AIR SPACE b 5/8" AIR SPACE %! (3¢) S |38 z 21512
f f o 1/8" ANNEALED ¥) 1/8" TEMPERED = E= 2% = 7|2
/2 L / — S oT [ T
REINFORCEMENT REINFORCEMENT REINFORCEMENT EXTERIOR s 1/2" NOM.  EXTEROR s 52| X%
(9 JGLAZING BEAD  (10/GLAZING BEAD  (12); & \iEETING RAIL) (13)@LockRAL) 1)@ HANDLE STILE) & ! SPIT Glass | ST 112" Nowm. S S ul
37 BITE 37 GLASS i Sl
BITE \\\\\H”I///
GLASS TYPE 1 GLASS TYPE 2 S YN, 7,
e — R LV /
2830 T —— —= = 7/8"NOM. —= = 7/8"NOM. \\\\é\’.-" WCENSE ((6,‘; .
~=— 1.406" ‘ - . T T N Z
c "{J . -~ 1546" —»=| * - 754" |=— 3/16" ANNEALED 3/16" TEMPERED Sg i Nosg7os =
A ‘ ! 1/2" AIR SPACE 1/2" AIR SPACE = * % =
062" ||~ 967" 460" f202 AT 3/16" ANNEALED—* (9 3/16" TEMPERED | ©) ol %OVBWM My
. L ZR /18/23 Sy S
R ! % |- 062" ¢ f EXTERIOR EXTERIOR 1/2" NOM. 'O, STATEOF .~ Q/S
& P 12'NOM. < GLASS ////‘2%' ALORIDM NS
(15)ANTILIFTRAIL ~ (16)ROLLER TRACK ~ (17)SILLRISER  (40)SCREEN GLASS BITE DRSNS
BITE //’ll/ \\\\\\\
GLASS TYPE 3 GLASS TYPE 4 A LYNN'MILLER, P.E.
P.E.# 58705




